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[onoxen Enrencku jesuk 1.

ubeBH M3yUaBama NpeiMeTa:

Cruname 3Haba 1 OBJIaJlaBambe JISKCHYKUM M TPaMaTH4KUM Kateroprjama. PasymujeBarme NUcaHuX TEKCTOBA O
TemamMa u3 Hayke (pusuka). [IpoHanaxeme noTpeOHUX HHPOPMaIHja Y TEKCTY. Pe3uMupame NpoYuTaHor
TEKCTa.

Hcxonm yuemwa (CTeueHa 3amba):

Crynent he 6utu y MOryhHOCTH J1a UUTa CTPYYHE TEKCTOBE HA CHIJIECKOM je3HKY, Te J]a U3 UCTHX MPEeno3Ha U
cymupa norpebHe nHpopMalmje, yKibydyjyhu cTpydHy TEpMHHOIOTH]Y.

Canp:kaj npeamera:

1. wmememwa:  The Future Tense. Will/going to. Structure of the atom.

2. Hemelpa: The Past Perfect Tense. Methods of heat transfer.

3. memepa:  The Past Perfect Continuous. Conduction through the bulk of an object.
4. Henmempa: Concord of tenses. Heat transfer by convection.

5. Henespa: Concord of tenses 2. Heat transfer by radiation.

6. Henespa: Komnokujym.

7. wHenmepa: Passive voice — present tenses.

8. memespa:  The Doppler Effect.

9

Helesba: Passive voice — past tenses.
10. Heneswa: Light absorption, reflection, and transmission.
11. nepmesma: Young’s experiment.
12. wenemwa:  Archimedes principle.
13. Henespa: Acoustics.
14. uenespa: Nuclear fission and fusion.
15. Henespa: KomnokBujym.

MeToae HACTaBe U CaBJaJaBambe rpaauBa:

YcMeHo u3narame, ycMeHa U [TICMEHa Bjexk0ama, KOIOKBH]YMH, CEMUHAPCKH pal. Pax y mapoBuMa u rpymu.
Pax Ha TEKCTOBMMA U PjEUHHKY.

Jlutepartypa:

M. Swan/C. Walter: How English works. Oxford university press.
R. Murphy: English grammar in use. Cambridge university press.
English for physicists (ckpunTa ca ogabpaHUM TEKCTOBHMA)

O0saM1y MpoBjepe 3Hamba U OLljelbHBabhA:

- 2 xomokBujyma (2x15) = 30 6omoBa
- moxalame 1 aKTUBHOCT = 5 60710Ba
- CeMHUHApCKH pajx = 25 6omoBa

Sagpmmn uenut? | 3appmmu et = 40 6071082
IIpomazHa omjena ce mobwmja
aKo ce KyMYJIaTHBHO CaKylH
51 6ox.

IMoce6Ha HA3HAKA 32 MPEIMET:

Hme u npe3uMe HACTABHHUKA KojH je mpunpemuo nogatke: Mp Hepena Byuen







